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TAAT
(1) TR WTTFERd 80 SEM W 3Ma, IHGT weAT SR fofevars Feam HArg a1 efeha T v

(2) mvﬂ&n-mma’mm ey - R T} Tlo [O |3 0o 3. _I
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St s il

(3) BTN FRYRTR FHich A=A ST part fafere S Seeafrreres GerweT = Ferewa g e,
(@) (31) T TAYETe YT T 4 TR I qafaet S o 1, 2, 3 370 4 37 ik i amed. o
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TS WA G BITUATT 310 3718 mmfmm@mgwmm
(F) TS T TUH SHETEI TI ST e FS! 9 Wk S=il WOd 3THdled.
(5) e WY WM U SR, ATEqd §el Yy STl e, e e BIVIR AR ard! Kard S I faaa
T W9 GTeawd. A Fe TSl Haeht A JU TETET W Tolul arecard w@ret ae 7 urefdl qare
(6) TERETHHA THS THR Foro I ISl JUR AT, TG heres Jok BIg o I T o Tres SO . T
TR IH T FedT d IH GE O TES T o A IaUE O G el S,
(7)( 31) W UHtareaT ST iehte Yoaieh shidTT SUSaNTE IHuTTohdtes 9 STTi-re 7ot foo At
(d) “Decision Making & Problem Solving” el WIAeAl Jhi=A1 ITUHS! 01 TS el SO LN
TEIA W F0eA FETYEThdiel a1 eIl SHEaR Hiesfacied Wos gl SutEmat 25% faar
1/4 T F/FH HI0A AT,

SEAL |

eyehi1 AT

aTehie

QIS IS THETHTSl aTmuard Uamd Iq 38, & a4 dugdd §et

va/vdl, fhar et yyAqfmh die ShTet 9T RIVIETE WHUTd Uodel aT ATeAerqut
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IUR TR FU ¥ e Haod e, 77 T TN I TR HESER) e s, fad
THNI T T T awd et e e iy Wepdtan 9 . SRt TRAET SHAY FHE AT
& Tan-gaR-fa fasdw e s Hest g 21 T TS aTgHA e e, Hue Et HHl
fovaTg e, ST STEHH Feare i e . I qataruia SeeTe iy Sepdl e e
T fogm . wTEy ET STere e S, TGO T R FEFROTIEER 3.
TaqUETe AT faly g% e . St framdiaTdiel W, 39 ael & o ge faliye .
S s TS T 1 WY Hew . TV A TR FHyoid J0aw (Contextual
Archaeology) I 9 IS IR
YAFRE T Gy AT STHUATE Y .

Read the passage and answer the following questions from 1 to 5.

Later half of the twentieth century witnessed emergence of new trends in Archaeology. New
discoveries in physical sciences and their application in archaeology resulted in an inclination
towards sciences. American archaeologist Lewis Binford pioneered the use of the methodology of
Scientific Philosophy in archaeological research. While in England, David Clarke proved that the
New Archaeological method of using concepts from disciplines such as anthropology, geography
and environmental sciences in furnishing archaeological evidences can extract much more

information.
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New Archaeology can be termed as scientific archaeology: The main a?IOfot?i:clgvict?;:i
archaeologists was to establish the chronology of human culture with the he ]13 + conside;:;
New Archaeology considers this a mistake; as archaeology is not just ?bout'chroril‘o glgyc;vidence e
that it is the duty of the archaeologists to delve deep so as to est_abhsh with re 1af ihi o be: i
cause and effect relationship behind every historical event. A simple examp Ie;. gan before th
report of the Mohenjodaro excavation. There were seven successive layers of havita 02 destr 3
Indus civilisation finally perished. It was believed that the Aryans mv.aded Indl_a and‘ eS_dOYe
the Indus civilisation under the leadership of Indra, their chief deity. This was a Rigv e.dlc VA ?rtltcle
of literary nature and how could it be completely relied upon ? There is no PhYS1caI_EV1 cee Dl eie
Aryan Invasion. It can be seen that the Indus civilisation died away because of climatic changes.
Scientific evidences conclusively proving this have been found. New Archaeology focuses on the
relationship between cause and effects.

New Archaeology has recently invited some criticism. Professor Ian Hodder from the
Cambridge University is a major critic. According to him, it is not enough to depend on]y on
scientific evidences for an explanation of cultural changes, but the context of excavated remains is
very important for their proper interpretation. This ideology, has therefore been called as Contextiaal
Archaeology. ) .

Now some Archaeologists have moved ahead of this ideology. Socio-economic con.dmo.ns. of
man have always been studied, and now a study of the mentalities of ancient humans is gamning
momentum. How did religion and philosophy emerge, what were the thoughts in the mmds. of
the ancient painters - such and other things are being studied. Archaeology in the twenty-first
century is indeed going to be very different.

1. Y faum EIEG! o iy fager
(a) FaeEE M argwdiA [WeEER favar Jau e TR,
(b) AT MHT e Hifae [aETE STATs L.
(c) TATERvg agages fay T oame fears e 37Re.
QT 39
—af (@), (), () ¥ e A e
(2) (a) 3 (b) ® FMG A (c) T A TRUMH 3L
(3) (a) 3WMO1 (b) 3T 3TRA, (c) I .
(4) (a), (b) 30T (c) € I I e,
Choose the correct option after carefully reading the sentences :
(a) Itis unscientific to believe only the literary evidence from the Rigveda.

(b) There is no material evidence available of an Aryan Invasion.

(c) There are evidences proving that the Indus Civilisation ended as a result of climatic
changes.

Answer Options :

(1) (a), (b) and (c) all are correct.

(2) (a) and (b) are correct and (c) is their result.

(3) (a) and (b) are incorrect and (c) is correct.

(4) (a), (b) and (c) all are incorrect.
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2, W e
(a) A R () R
(b) WY farwe @) Tt WA
(0 3fes wh (i) TTRfEmEE
(d) "aguEE (iv) femren TR 95
i I

@@ () (o) (4
() (v) () ()
@ (v) @) () (i)
@) @) @) @ (@)
4) @) @) () (v)

-

Match the pairs :

(@) lan Hodder (i) Relationship between Cause and Effects
(b) Lewis Binford (i) Contextual Archaeology

(c) David Clarke (i) Interdisciplinary evidences

(d) New Archaeology (iv) Method of Scientific Philosophy
Answer Options :
@ b © (@
1 @ @ @ 6
@ @ 6 @ @
@) @ @ 6
@ @ O @ @

3. o YEkE A GY 9 ST FRU ;
(1) eyl qUmweeIRa TEHRe e 3Te.
(2) FRFROE & GUATE Fewaren He ST 3.
(3) et SR e s e STe e,
A W anfde, arHif iR ATl S 3T GE STl SR
Archaeology in the twenty-first century will be very different because :
(1) Contextual Archaeology has been refuted.
(2) Cause and Effect relationship has gained great importance in Archaeology.

(3) Material evidence of Aryan invasion is not available.

(4) The mentalities of ancient humans are also being studied along with their social and
economic conditions.
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4. HWOIA v W
@) mwmmmwm‘ﬁ@mmm
(b) mmﬁmmmﬁawmwmm |
(c) 3Taiqe WRSICRIET 9Iq Sl 71 Hel.
(d) T e T fafi & g g SR S

Tt Y
(1) 5@ () A2 (a) 3T (D)
(@) () = (d) @) () (0 3m(d)
According to Contextual Archaeology :
tudying a culture.

(a) Itis not right to depend only on scientific evidences while s _
(b) It is necessary to understand the context of an excavated material for understanding

its function.
(c) Mohenjodaro was destroyed seven times because of the Aryans.
(d) The main aim of Archaeology is to record the chronology of human caltere.

Answer Options :
(1) Only (b) (2) (a) and (b)
(3) (b) and (d) 4)  (b), (c) and (d)

5. Toume v Sauyla [Waeiaasa S5 HI0a Ta franware o 2
(a) YOS $TEs o ST a1 WA Set.
(b) MO JaaETaT fly €% e
(c) YT WHET=AT THISAIRI=AT 31SATHTe GEaTd e,
(d) gudwEfaEn € farmEREn gadt snfor fafay wreren Yee s A,
watdt 3wt
(1) @ (d) @) () ()
(3) (a), (b) 3 (q) 47 (@), () = (d)
Which new ideology took roots in Archaeology in the second half of the twentieth century ?
(a) Opinions of English and American experts in Archaeology gained acceptance
(b) There was resistance to Contextual Archaeology. -
() Mentalities of the ancient humans began to be studied.

(d) Archaeology began using scientific methods and concepts of sciences
Answer Options : .

(1) Only (d) () (c)and (d)
(3) (a), (b) and (c) (4)  (a), () and (d)
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T S AT wE sni wo wui 6 3 10 9 3
2030 WEA 40 TaR WTOR qZAEBT

FE S A 3 w5 i e el awe e, @ A, 2030 T 40 29 g
TZAR VU AE. T I A AW A2 20 g0 6 A% A4 s e Aied. 22 5 W
FraE Ty Tz T T fae 49 59 2015 061 SR 99 Aot S e SorHhe

A T favarm aman w2y . o mam e o i, e T g W@

AT AR HE A gz am 2 it 9d wenrs 3 TSeEEs e A o SEer
favem F70IR  A, H wE ug A Tedren fafel @ FAfeTE He 1960 e 1 5w
T FH T 2000 A 19 7oA Age. 2 v gHrE aramE ge FEi am vl A

2.7, 2050 TR I FAEnTi 55 7P WG AR At w0 9ed samde, o e A 9
TOH ATTTARE] AlEd] AR qEi 2. CEYEm S 60 29 A AU SeEd i AanuR
A 3 TR A 9 dEed Aad WUETE e 400 T SRR AR A9 Seare

fowr=m T TIARaET TEA AT, ATS Sl 50 29 ol e ITE Teaid.  cdie 30 296 e
FIUIE AT ATz, Ve A0 QI GEa A S WO oA 70 29 S 399 9 ol
AN ZAZATATE] AEYaF A0, e o AFeaad FwH w0 2w e FomEel Sl
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Read the following passage and answer the Questions from 6 to 10
40% water shortage by 2030

The world is set to face a 40% shortfall in water supplies by 2030 due to urbanisation, press?res
of food production, population growth and the increasing demand from the manufacturing,
domestic and energy sector; said the United Nations. Ahead of World Water Day on March 22,
the UN released its World Water Report 2015 in New Delhi and stressed that the ‘water crisis was
one of governance and not of due to the lack of resource availability’. Even today, 748 million
people do not have access to improved and safe source of drinking water and the worst affected
are the poor, the disadvantaged and women.

In India, the report analysed, the groundwater or tube well revolution has largely contributed
to relieving poverty, but the increase in demand for irrigation has also caused severe groundwater
stress in areas such as southern and eastern Maharashtra and Rajasthan. In fac, the total number
of mechanized wells and tube wells rose from less than one million in 1960 to 19 million in 2000.
Groundwater stress is also a larger South Asia problem the report said. India, China, Pakistan,
Nepal and Bangladesh alone account for half the world’s total groundwater use, the report sa_jd.

“By 2050, global water demand is projected to increase by 55%, mainly due to growing
demands from manufacturing, thermal electricity generation and domestic use and the world will
have to produce 60 percent more food and the global water demand for industry is predicted to
increase by 400 percent,” said the report. '

Increasing urbanisation is causing specific and often highly localised pressures on freshwater
resource availability, especially in drought-prone areas. More than 50% of people on the planet
now live in cities, with 30% of all city dwellers residing in slums. Urban dwellers are projected to
increase to a total of 6.3 billion by 2050. The growing population across urban and rural areas will
need 70 percent more energy and water is required to produce almost forms of it. The report
recommends a host of measures to limit water insecurity.

6. WEAIATH P T ST TR T O TS T el Sed ?

(1), T 7 - e
Tfequr Sfor go W - TN
(3) TSEYUM - 95|
(4) SWYW - fawr |
Which of the following states suffered from severe groundwater stress ?
(1) Eastern Maharashtra - Gujarat
(2) South and Eastern Maharashtra - Rajasthan
(3) Rajasthan - Punjab
(4) Uttar Pradesh - Bihar
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7. 2030 T GRS S 40% WA et P SA FROM TR e

(@) 3 SRS A (b) LRI

(c) ITaTeqHH Wil (d) drREE e

T PO/ T qeael PR Srvar RO ST S 2
(1) T (a) M (c) (2) R (c) 3T (d)
@) Q) (@), (b) S (@)

The following are some of the factors responsible for 40% shortfall of water by 2030 :
(a) Pressure of food production (b) Urbanisation

(c) Development of water transport (d) Population growth

Which of the above factor/s is/are responsible for this shortfall ?

(1) Only (a) and (¢) (2) Only (9) and (d)

(3) Only (c) (4) Only (), (b) and (d)

8. w“mmmmmmﬁmmﬁém.

() A dH (b) a3 BT I (© fom
it i I T qUEt AT ?

_/ﬁ’/m(a)m(b) (2) wH (b) I ()

(3) W (c) (4) o0a Wl

The following are some of the group of pepole who do not have access to safe water :
(a) Poor people (b) Disadvantaged people (c) Women

Which of the above group of people is/are correct ?

(1) Only (a) and (b) (2) Only (b) and (¢)

(3) Only (c) (4) All the above
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9. Wm/mmmwmwﬁmmmmm i
I ST/ St 3 2

(1) vt fowm
sz SrefiTeoT

(3) dmed vRd

4) TN R

Which of the following factor is/are responsible for highly localised pressure on freshwater
resources especially in drought prone areas ?

(1) Development of Agriculture
(2) Industrialization
(3) Increasing Urbanisation

(4) Migration of people

10. Weiredes! vl g Smfaes siafed o ?

i 2w @ 22t @ 2% (4) 5
Which of the following is the World Water Day ?

(1) 227 March (2) 227 Apri] (3) 227d May (4) 5% June
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TR IART ST e SR Wg e 11 9 15 = I 9.
REE Fal
e T R MRS R TR o S e i e SR, Teeere g < A
TE T AR, 2035 A1 Tty qu@ﬂmwﬁwam@w@éﬁmm

SIFTEIS ST T TS SehE e e (SHTT) 318 Helerd, Seee Al S
e, S ST TR A1 A vl S S A, e e S, e 9 T 4
T YRR HI ST T S S E e g e e,

SrrdEren vt wiag faarEd . Weed I SN Surae gfed el fed. (i) HHere
SIS e ST=TTe TR 3T, (i) “HTHGTEoT ST TR ST, e AER lRe e FEIe
émaﬁama’r@a’tnmﬁﬁmwﬁa(1,2,4,8,.....)amm%mﬁmmﬁmaﬂw§a

1,234, ..). mwwmmmmwmw 3Med; TR STaUY
anfor faRs sEa.

AFHETE T OF YHERY W - GiEd (stock) 3NfU1 FEE (flow). A Heuia =
e B T STUAT 37, S 0 gel St WIRarel el . TregEn RrarR 2021 1 S =il
. SO % e TS S ST A e s oR et 2R -eeh e e S H, S,
T, T, O Sy e, fe w, sEgie St o STgfE il ehesen
TN e % TS e FE W Sl 3 A o SRR, R ST
e e T wed .

aﬁuﬁaﬁm@ﬁq@a&mﬂmmwﬁmwmﬁﬁmm
T S SR AwEere Fetad §, Wil fow, Ho | e e qwe
anuTia .

AT T FH O A S TS H Tere 3. Hel Mo <.

ot T T A T T TR ARe 5 FH A TR,
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Read the following passage and answer the questions from 11to 15:
Population Growth

Population growth is a serious issue not only in India but all over the World. India is secong
largest country after China. It is estimated by 2035 India is going to surpass China and becoming

number one, if population growth goes unchecked.

Demograply is the science of population. It includes mortality, fertility and migration as
three decisive components of population growth. Its main concerns are the measurements and
discovery of uniformities in the basic processes of human birth, death, population movement and

population growth,

Prof. Melthus well known thinker on the issue of population suggested two basic postulates -
(1) Food is necessary for the existence of man and (ii) Passion between the sexes is necessary,
According to him, population if goes unchecked increases in a geometric ratio (1, 2, 4, 8, ...... )
while the subsitence increases only in an arithmetic ratio (1, 2, 3, 4, ....... ). He advocated two
checks on population i.e. positive checks and preventive checks.

Population variables are of two kinds - stock and flow. The important source of information
is national censuses which is carried out in India after every ten years. Population enumeration is
due in 2021. This document is considered as primary which reflects on the trends of growth, rate
of fertility, rate of mortality, migration, rural - urban population, sex ratio, population of the
scheduled castes and scheduled tribes etc. Needless to say, it helps to the policy planners and
demographers to adopt appropriate policy measures to handle the population growth,

Taking into account the unchecked growth of the population the policy instituted by the
government of India to influence atleast one of the demographic components of population change.
Population policy seek to enhance the welfare of the society collectively. An effective population
. policy rests upon knowledge about the demographic trends, its likely future course, and its causes

and consequences.

In short population policy promote small family norms, delayed marriage for girls, control
the spread of communicable diseases, reduce infant mortality rate, immunization programmes for

children etc.

All these measures, if implemented properly, will definitely bring down the growth of

population.
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11, @ AR A T H ey B ? 538985
(a) I A TGS (kinship) == 3.
(b) SFETEER Hh mi T ol S T,
(c) T 3faeem quiF o1,
(d) mma?ﬁwwq@mmﬁvﬂwmw%mwaﬁum.

gatdy S9N
(1) (a) 30 (c) TR (2) (c)m(d)aﬂm
(b) 3nfi (d) =R 4)  (a) 3T (b) S

What do you understand by reading the above passage i

(a) Itis a discussion on kinship.

(b) It is brief discussion about the population growth.

(c) Itis a description of an ancient history.

(d) Got insight about three factors which are decisive to and for population growth.
Answer Options :

(1) (a) and (c) correct (2) (c) and (d) correct

(3) (b) and (d) correct (4) (a) and (b) correct

12, e STt e frih FaEE W v/ SURRISE F0 SAEea o 2

(a) I G (b) TR ISFIR
(c) o focifad foemem Wi (d)  STRUE 916
Tt T

(1) R (d) TR (2) I (a) TR
By W (o) T (4)  (b) A () TR

In order to control the population growth in India which of the following measure/s is/are
important ?

(a) Increase in infant mortality rate (b) , .Employment to men

() To promote late marriages of the girls (d) To promote fertility rate
Answer Options :

(1) Only (d) is correct (2) Only (a) is correct

(3) Only (c) is correct (4) (b) and (c) correct
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13. Wmmq@mémmﬁﬁﬁm——#wma@

ORE ®) fii (© TR (d) I3
vt s ;

(1) W (a) = Jy/ R (b) T

(@) (b) 3T (c) TR (4) I (d) TR

According to Malthus population if goes unchecked increase population in ratio,

(a) Arithmetic (b) Geometric (c) Multiplicative (d) Zero
Answer Options :
(1) Only (a) correct (2) Only (b) correct

(3) (b) and (c) correct (4) Only (d) correct

14.  YRANT SHE@N YR Tefets! S st T 2 ?
(1) wfecre seamy
(2) SRR Ty
(3) T HiS TN WIISTeh Hehai=n Uiael 2l

K_y() g rHl e 3THR
Indian population policy promote which of the following ?
(1) Women spirituality
(2) Illegal abortions
(3) Large family size protects from social evils

(4) Small family size
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15, RGN SV RYA H1 76 2R 2
(a) SrHEEN fan yam
(b)) T =
(c) eNFHER TR ()
(d) IO - AT YRR TR SR

it 3wy
(1) e (a) TR (2) I (c) T
(3) T (d) TR vf Tl e e

What we comprehend from the population census ?

(@)  Sex ratio of the population

(b)  Rate of fertility

(c)  Mobility of the population

(d)  People living in rural - urban area

Answer Options :

(1)  Only (a) correct (2)  Only (c) correct

(3) On]'\r (d) correct (4) All the above correct

Teitel I AT TETa 3T Wy Al 16 20 < 39¢ &
AT WY fa saereern
Tidiet Y IR UG T e o e aen o afifetr el 9. e Seedd wd
I, ST WRRE TR SHae 5 (4.5, ), WM, ST, S anftn e Snifvren < AfE
R, TEee WeEg ST e safamma T fasrer snfor oo 2, i s e HE S Tar 2.
T faveTE Wl T 318 378 i, GEere g feare o wewrewa frato ey sSevas
99 WM. G fad orerdEl M STH SaRl RUS SRR (F.UET) I HASl 3. @A
2o WA TS e T TR SRl he ot Us SRR wHie fod dey gihftem
FTH. WY, T el W GEET $ed s Wi o srawda i T S SevE o, o W0
(i) e anfon T TR feeielt s Aol qol HARSt YN Hee WH- SYwed ST, qefy,
e T, ST SediE W S0 v A, i Yo S T St Hee WiEA Fia gy
GO 7 QYU W e, U ST U A0 0 SR STevd s oXd Wi, Sl e o stfurer
frurdia RIS W= 2] T (i) T GRS w@iad fawiid Yikeol 3w, o Foieh GThias
feerell = wremien g Fy wE SfHER, WA TEgarE WE S T SR SR
ST T Sl SYRUATE W4 ST ST (iii) TE U YemTHeHia TR aaiia SeHTd JRudTHe!
GRS W & Ul GiAfvad sl STavde 3T,

THoeT ShTATETS! ST /SPACE FOR ROUGH WORK P.T.0
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. 0:
Read the following passage and answer the questions from 16 to 2

Federal Finance in India

deral depending upon the concentration

Governments may be classified into unitary and fe
1 and local authorities. Under the

and distribution of power and the relation between the cenira
tution upon a single centra]

unitary system, whole power of government is conferred by the constt
central organ. This

A this
organ and local governments derive whatever authority they possess from

i f the countri
system of government is prevalent in the UK, France, Germany, Austria and most 0 untries
rovides for a distribution and division of

of Asia. As against the unitary system, federal system p
eneral principle of division of

the individual states of which the federation is composed. The g
power is such that affairs of common interest to the federation as a whole and thus requiring

uniformity of regulation are placed under the Central Government, while all local affairs are left to
the state governments. The two classic examples of federal system are the USA and Canada.
After Independence, India also opted for a federal system of government on the lines of the USA
and Canada.

The distribution of powers in countries adopting the federal system of government defines
the financial relations between the central and the state governments. However, there are some
special problems that have to be grappled within federal financial system. These are : (i) The
sources of revenue assigned to the centre and the states should be adequate to enable them to fulfil
the functions allotted to them. However, in modern states, it is frequently not possible to ensure
this and it is highly unlikely that the needs and resources of each government will be exactly
balanced. Therefore, it becomes necessary to evolve a mechanism of adjustments so that shortages
and surpluses are evened out; (ii) Each government should have independent financial authority,
i.e., each government should have separate sources of revenue, powers to levy taxes and borrow,
and to incur expenditure to carry out its functions effectively ; and (iii) A certain uniformity should

be ensured in all areas of the federation so that no preference is given to one state over the other as

regards payment of federal taxes.

AT HIATETS ST/ SPACE FOR ROUGH WORK
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16.  WATT! hivren 29t G fo srmen wiemwet o ?
(1) JTET N Fer e (2) el ST W FEd

S AR, e o aRa W (4) 9%, S, S anfor st
Which of the following countries have adopted a federal system of government finance ?
(1) USA and Canada only (2) Canada and India only
(3) USA, Canada and India only (4) UK, France, Germany and Austria

17. WA ARG ATl FeRe FUva ol o
(a) FEE RN e fasia i s,
(b) T WEREN W TEqT WU FEET.
() T AFHRUAE W= M.
(d) T R Heger $7 9 T TN G aeY =6

T 39T
1)  (a) B 2) (a) WM (b) T
27 (@), (b) M () T (@) e wd

The present passage recommends this :

(@) Independent financial authority in a federal system

(b) Separate/Independent sources of revenue for each government

(c) TPowers to levy taxes

(d) Equal disribution of federal revenue between central and state government
Answer Options :

(1) (a)only (2) () and (b) only

(3) (a), (b) and (c) only (4) All of the above

18. g M1 To9 TR AreATaie fodia Hey SR S v/ shivrd ?
(1) vEgETE! e (2) EE= e
(3) T (1) 31T (2) (4) eI =Y

What is/are a determinant/determinants of financial relations between the central and state
government ?

(1) Sources of revenue (2) Heads of expenditure
(3) Both the (1) and (2) (4) Distribution of powers

HeAT HUEE W/ SPACE FOR ROUGH WORK P.T.0
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19. rem o
WY -1 WY - 1I

() UHHH TEHR () ST, e

(b) EET TR (i) W@

(© 3IF, ¥ (i) % onfT T TR F AT

(d) JTET, F=e (iv) §e Tl g GOhTHS hisd

At I ;

@@ () (9 (@
) @) @) @Gv) (i)
(2 @v) @) @) )
@) @ @ @) (iv)
A ) @) @) ()
Match the following :

List - I List - 11
(@) Unitary Government () Germany, Austria
(b) Federal Government (i) India
(c) UK, France (iif) Division of power between Central and State
Governments
(d) USA, Canada (iv) Whole power upon Central Government

Answer Options :

(@ (b) (o) (d)
(1) @@ @ @) ()
() G(v) @) @ (i)
@G @ (@) (@) ()
(4) (i) (@v) (@) ()

oA WIS ST/ SPACE FOR ROUGH WORK
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20. T faum/ M s,

(a) HHIA SR S anifty T wREREYS e ey fafved S TR
(b) e STen T e fade gAY fied 9
(c) Hella sreen ¥ anfor e wer Hefte fardtg deiy ffvem w0,

(d) e THR Srawe e SR 9 e gay fiive 9.

Ui I
(1) K (a) M (b) TR (2) I (a) ST (d) SR
(3) HH (c) 2MfO (d) SR (4) TR (c) TR

Identify the correct statement/statements.

(a) Federal system of government does not define the financial relations between the central
and state governments.

(b) Federal system of government defines the financial relations among the state
governments.

(c) Federal system of government defines the financial relations between the central and
the state governments.

(d) Federal system of government defines the financial relations between the local
governments.

Answer Options :
(1) only (a) and (b) are correct (2) only (a) and (d) are correct

(3) only (c) and (d) are correct (4) only (c) is correct

Tl HIUTATS! ST/ SPACE FOR ROUGH WORK P.T.0
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Eﬁﬁmwwwmﬁamm’ 21 25 =t I .

Wi auine

RIS Fe e o i e o, Xfgsi e (3 AR FaE o )
1 10 et e s fSe[q Jaeia T (Electromagnetic Waves) ¥ forgd @ goeid (TR &
WW S et yarfed @@ ew@m.  aRadl (Frequency) & T e (W?;lvelength) 1
R et o2 ot s, et AT (spectrum) AR AT A ARAITAT ST
T ST, R IR 50 whew 9 e qee AR 20 T § 20 el W A, F+
ma"a"ii"mmwwﬁ%wm. iR ST ST T AREET AET S

- fesTl Tl awEif 10 fre s ¥ 300 FI wieE T T, 99T YT (FER)
SRATRT 1 fTm &85 & 300 firm wésq i ormd.  yeneig auiverme) aRenasl wAEr 3x 1011 3
3><l\£l“‘ BCH TAHT . TS STaTad (Infrared) 31fftel (ultraviolet) TE T¥8 WehIRIEN SUiGHeY
m m T YRy TeRon=it Srentia (Frequency) 4.3 x 1014 7.5 x 1014 T3 3aH! . TR
Wwaﬁﬁﬁmﬁ@mm?@ﬁ e @ el (Wavelength) 1 3eei@ shell ST,
400 T 700 X Fe 0.4 & 0.7 HREFE Sa ST, e TSI YT A @il A o, |
HAFH (Infrared) Fehme ferton=n &iq qErd: 3W@1 SHoite 19l ¥4 feodeise Seeihe eifarte
TS TS FATH L. WIS S 300,000,000 HEX Wil g, WS 1,86,000 el Wik
ST TR JRTATS 71 S S AIAHIT Yo el e STaea ST o fere WeRTeTEn A g
fehen frafa dishesiqn wararen v euifaa o, HTereA HIEHIA WaTH T T 97 w6 2,

] TR (RO SeTeod] bR Seet e 3. Freen wereany weh peonsy St febar
ﬁﬁmmﬁﬁ fimren werar S, fevsh (ammerer), gamee (v aqrfor gfefoft
(Eefea1T) T e FaTe.  FFr SR o Wi e o s 2
TEFA SO SRR FAGART S, ST B TR G O a7, e o)
TG STeg] FerTvl Tehl HILAHIGH a1 HITHI Fa] el deal 2, T iR, IR 2707 weromE 4
ArEN THAHI HeAY STl T Aisit o ARt aren v e ey s TR Teheh et
qe TgHt T e arpmEemel fie o R,
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Read the passage and answer the questions 21 to 25.
The Spectrum of Light

The light is kind of electromagnetic spectrum. Radio waves are electromagnetic in nature.
Any electromagnetic wave is made up of electric and magnetic fields that travel through space
from one place to another. The basic characteristics of the electromagnetic radiation are its frequency
and wavelength. To put light waves into perspective with lower radio and other frequencies. The
left end of the spectrum is very low frequency electrical signals such as AC power 50 Hz and audio
or sound frequencies in 20 Hz to 20 kHz range. These are the lower frequencies that have long
wavelengths. Higher up frequency scale to right is wide range of radio frequencies.

Radio frequencies range from 10 kHz to 300 GHz. Microwaves extends from 1 to 300 GHz.

Even further up the scale we find visible light. The frequency of Optical spectrum is in the range of
3 x 10" to 3 % 10'® Hz. This includes infrared and ultraviolet as well as visible parts of the spectrum.
The visible spectrum is 4.3 x 1014 to 7.5 x 10! Hz. But we are rarely referred to the frequency of
light. Instead we state light in a distance measured in terms of the meters between peaks of wave.
Light waves are very short and are usually expressed in Nanometers or microns (one millionth of
a meter). Visible light is in the range of 400 to 700 nanometers (nm) or 0.4 to 0.7 micrometers (jm)
depending upon colour of light. Short wavelength light is violet and long wavelength light is red
colour respectively. Right below the visible light is region of infrared rays cannot be seen. The
source of most infrared is heat. Right above visible spectrum is ultraviolet range. Infrared and
ultraviolet are included in what we call as optical spectrum. Beyond that are
x-rays, gamma rays and cosmic rays.

Light travels in a straight line. Light rays emitted by a candle or a light bulb, move out in the
straight line in all directions. Light travels at the speed of 300,000,000 meter/second. i.e. 1,86,000
miles/s. The speed of the light depends upon the medium through which light passes. The above
speed of light is in the free space means light travelling in air or vacuum. When light travels through
glass medium its speed lowers.

Light can be manipulated in many ways. Lenses are widely used to focus, enlarge or to
decrease the size of the light waves from same source. Lenses permit useful devices such as cameras,
binoculars, microscopes, and telescopes. Reflection and refraction are the important characteristics
of light. The law of reflection state that angle of reflection is equal to angle of incidence. Refraction
is another characteristic of light states that it's bending of the light when light rays passes through
one medium to another. There is relation between wavelength, frequency and speed of the light.
Wavelength is inversely proportional to frequency. Unit of the light is generally expressed in terms

of nanometers or micrometers.
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21.  YSRRITAT U] GRTHE v Wl SHEy SR 2
(1) 3 v g e ywm
(2) YT YIS STV g9 Wehmdl
(3) YT fortuni=n W T ¥ WA
4) Tetwt gdw
Optical spectrum consist of
(1)  Visible light and ultraviolet light
(2) Invisible light and visible light
Infrared light and visible light

\/(A'f All of the above

22. SRS AT 3. .
B 3x108 R wfidee () 3x108 F Wl
(3) 3x108 frciiex wiedea (4) 3x108 g9 iadhs
Speed of light is
(1) 3x108 m/s (2) 3x108 cm/s
(3) 3x10% km/s (4) 3x108 inch/s
23. YERTE T Hedl Heg feet .
(1) X (2) SR
(3) TaediHizx ) A amfo HrEshIEIY
Light unit is generally expressed in 3
(1) Meter (2) Centimeter
(3) Millimeter (4) Nano - Micrometer
24, VENI GO YEAA: __ TSI I
(1)  Hema Tl (2) o
3y e e @) et T @
Light is generally in the form of :
(1) Magnetic Waves (2) Electrical Waves
(3) Electromagnetic Waves (4) None of the above
25. STEE YT FeRRoTie SRERAn € Sivfeodn T Fehm foham dam
(1) FH 7dd ‘_;1/ S 318
(3) =R IrEd (4) et e
Frequency of infrared light is than violet light.
(1) Less than (2) Greater than
(3) Equalto (4) None of the above

FHEAT HAMES! ArT/SPACE FOR ROUGH WORK
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UEIe AR AT AL Wy welies 26 % 30 < oY forem.
g

e & T Te wee TR s wH A STHA. SRR S A
AT TR T ST, T S ste € e W G AT S i e, =,
FETERSE T HTHE AT, T o € S e W S F; 8 S S
TETCATEIE] AT TR 3T, T S Segl i FEgEy e ane W & JEats g8
ol Hifi el el S SIS A, SteeRd B, SERE C, SeRE D S S ¥HE STt
S @ sdfERdei, sffemids, sfamregfen i wrfas siorae o HaEvan 3q 2. &
FIA-HedRUd gl T e S,

e TR St € qaT fReee St st TRem e faree SieEe
o8 F TN, B HECIEE SaTE S TR o § siefiea s dai W Siee A, D, E S
K & =Reied foReav) sTod. aoam ool sharres ST Wi 7 TeT; il Scafoid shefl Sard @
e foReE Sea # YR e ST, e SR SR e fatseuan St
e A 371 D &= SAfdieh 8 =ide e viehel,

Tertar ol SToam A ¥ 3iyF Tore W REuame e o, @es A Sieers
FUGE & TAYSTON R, ST A T SO T HE woel Tudehers] Sashen weed @,
it s1eren oo A & HIE TSrEias w9 S Sn, q9, Y, SSATdid Seh, Wuaid He sort ael
S, ST AT SeaET A ¢ e w1 ERG T, a e e {me-
FATE-aTE T1 §o7 31| o YR Teder Stemard A Hel sgent Ru[E @ ' Wi A" o Heem
ST

SraTEm D 2 T ARl il Sy S e ST, SrReiaiHyT St
Ffovry STeT S WG S J SIEiAe) SHavAr Hewd T SieTHte D .

Ty Afde 0 @ Eem e Hlereid Sleiead ST D HEl FYiw
FTEE.  SeTa D wHeear @ g enfor stffiestiiafimmen wRuiiyd 3. oM Jeae
SeqE D = FE1 200 - 400 1U T=e STHEIM 86; S IWEHaHg uined Favshem ges Sueis
374,
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Read the following passage and answer the question no. 26 to 30.

Vitamins

Vitamins are organic substances present in small amount in many foods. Tl.ley are r.e.qun.-ed
for carrying out many vital functions of the body and many of them are involved in the l.ltllllzatlon
of the major nutrients like proteins, fat and carbohydrates. Although they are needled m small
amounts, they are essential for health and well-being of the body. When these vitamins are
discovered on the basis of their function and before their chemical nature fully QIUCidat'Ed' they
used to be designated by affixing the letter A, B, C, D or in terms of their major functions, viz
Antixerophthalmic, Antineuritic, Antiscorbutic and Antirachatic Vitamins. After establishing the
chemical nature of these Vitamins, they are now refered to by their chemical names such as Retino],
Thiamin, Riboflavin, Ascorbic Acid and Chole-calciferol.

Vitamins can be broadly classify as water soluble and fat soluble vitamins. B-complex Vitamins
and Ascorbic Acid belong to the former group while Vitamin A, D, E, K are the fat soluble Vitamins.
Water soluble Vitamins are not accumulated in the body, but are readily excreted while fat soluble
Vitamins are stored in the body. For this reason, excessive intake of fat soluble Vitamins,

Vitamin A and D can prove toxic.

Retinol or Vitamin A is necessary for clear vision in dim light. Lack of Vitamin A thus leads
to night blindness. Another function of vitamin A is to maintain the integrity of epithelial tissue.
Retinol or vitamin A is present in some foods like butter and ghee, whole milk, curd, egg yolk, liver
etc. In vegetables food Vitamin A is not present as Retinol. These food contain yellow pigment
called Carotene which is converted into Vitamin A in the body. So they are termed as
Provitamin A.

Vitamin D is required for bone growth and calcium metabolism. It plays an important role in
the absorption of dietary calcium from the intestine and its deposition in bone.

Vitamin D is formed in the skin by Ultraviolet rays present in sunlight which convert a
cholesterol derivative present in the skin to Vit. D. Lack of Vitamin D leads to rickets and
osteomalacia. The Vitamin D requirement of child is placed between 200 - 400 IU; which may be
obtained in great measures in tropical countries through exposure to sunlight.

THoAl HINTEE W/ SPACE FOR ROUGH WORK
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26, WE o arEmHE Fo0 A § Siarew ‘D’ <A A wre e ?
(1) e ‘D % @A) TR L) gy S .
(2) STEIUET ST Sieer ‘D’ ¥ wlde T,
(3) oo ‘D’ = HHAg® Ry 2l
(4) i ‘D’ ¥ T e ST,
Which of the following statement regarding Vitamin ‘D’ is false ?

(1) Sunlight exposure is necessary for formation of Vitamin ‘D’ in skin.

\/({{ Excess of Vitamin ‘D’ is not harmful.

(3) Deficiency of Vitamin ‘D’ leads to Rickets.

(4) Vitamin ‘D’ is fat soluble.

27. oEF qeHE SieEe ‘D’ 2 JEI TS A
(1) 200-400 0 (2) 20-401U _A43] 200-400IU  (4) 200 - 400 HIFRIUH

Requirement of Vitamin ‘D" in child is

(1) 200-400mg (2) 20-401IU (3) 200-4001U  (4) 200 - 400 pg

28. FEIE sTTuRIgtae] Yt Uosl Ee THEfe Hed 3
(1) HFHA 2) FFHALS (3) wfe (4) feisg

In vegetable foods, instead of Retinol following chemical is present :

(1) Curcumine (2) Curcuminoid J})/Carotene (4) Carotenoid

el ShTATHTS! S /SPACE FOR ROUGH WORK P.T.0
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29. SitoFEE Wit of ) oW .
(1) @fia suf aréifem
i v sifn e
(3) FIEEF (0 FAEYER
(4) §ga nfor arEgw
Vitamins are classified as
(1) Organic and Inorganic
(2) Fat and Water soluble

(3) Essential and Non-essential

(4) Saturated and Unsaturated

30. Wt g A 31T ¢

(a) e, mmﬁmmm—mamm.

(b) eSS FH FHION SE( STHAT.
(©) mwwﬁmﬁmﬁawm

(d) ST A S ST ST T O ¥ TEved FRONY B

FieH! FI gatE,/ 1EE W 3ed ?

(1) (a), (b) o1 (d) & FA T (2) () M (b) & A amed

(@) () &0 (d) ¥ A AT W (@, (b) 370 (c)

Read the following statements :
(a)
(b) Vitamins are needed in small quantities

(c) Ascorbic acid, Retinol and Chlorofin are Vitamins

T T 3ea

Retinol, Thiamin, Riboflavin and Chole-calciferol are Vitamins

(d) Excessive intake of vitamin ‘A’ can lead to night blindness

Which of the option given above is/are correct ?
(1) (a), (b) and (d) are true
(3) (c) and (d) are false

(2) (c) and (b) are false
(4) (a), (b) and (c) are true

o=l FHTAETS Ar/SPACE FOR ROUGH WORK
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QT SART T TSR SRS W9 i 313 35 <t S e,

HIE € SR T TP Yt S1 e onk ) 9 et o Garhe Yo e g
Heftr STER ST @ 6.022 % 102, s¥edntgon Fwismmas o TaEien G F AR, T
ST § A T T et ot g s S & S @ @ e
36.5 W © STV TAGISF STUSRA 1 371 TR STEeqe 35.5 31 ait arist et sl 3.
AGET WA TR TS ¥ o SR weeten S, 9FF T 1 atm=101.325 kPa A0
AIPHII (273 K) HISTeIe! S, ¥ 22.4 SH-Sffiet 5 1. 39 SHes S0 HIvTE! SR S S

AT SR /A o1 FHieT E}IV_1= —P?[VZ e fiesg Tl
1 2

TEET TEEr et def <9 YR ¢ TES (THEET SEee) ST W (M),
JEE (N), FAEEN (F) St Seqem (AR sTace AE) S| : e (m), TES (x)
Tty FRam. T ef, M, € wF eefurier gevma o geas fRd A sTRa @ oW,
TEEEEI, N, @ 8T TF Welaw oRd SIS U 38 &1 o [aveisvia qegedrsl 9@ (Hifed
T ) =HFH SRR e (Wi smeet) snf e SIgETeE vy stfufshar
TSRS SATEYFshal T9.  YEER, N, € T Srefiet g @ gt i gued Sed
W 3. T TEEs AR geed Se, € @ Afifsharh e aeHH ST @
FAYEAYR T TUIR STHd. 3791 31 STeaT= YHed s sare. ' 1 STeAre 3 SegHM i ST 1 P
TSI 3T, 1 T SEerere Siufsan FRa fia 1w srarger faeenfid d .

SN Hed ST 3a1 : 3, e SISy STHAI.  Ustedl FarTiehiial, WarTemesnsd A< Fed
T Tem @ forel gEude Heden e aHged 48 T STl WS @ e TR
FaEgA 3.

TEIHTIER ST STeretl; HieTeral (m) TVreT= WAl feheinie Froenmm e foeeeeiean swers Hierd e
anifor FeROpEIaT, () 1 U ST BIEVTAE W S FES & G TR ST

(31 9&@H : H=1, He=4, Ne=20, N=14, 0=16, S=32, Cl=355, Ar=40, Ag=108)
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Read the following passage and answer the questions from 31 to 35.

The mol is a SI unit of the amount of a chemical species/substance. It is always associated
with the formula and contains 6.022 x 1023, Avogadro’s number of particles of the species
represented by that formula. The molar mass of any chemical substance is the mass in gram of one
mol of that substance, this can be obtained by adding the atomic weights of the component elements
present in the formula of the substance (eg. molar mass of HCl is obtained by adding atomic
weight of H ie 1 and Cl ie 35.5=36.5 g). The molar volume, ie 22.4 dm? is the volume of one mol of
any gas (assumed to behave ideally) at 273 K and 1 atm =101.325 kPa pressure (STP). This volume
can be converted to the volume under any condition of temperature and pressure by using general

Vi _ BV,

equation
gas eq T T,

Chemists express the concentration of chemical species on the basis of volume (temperature
dependent) ie molarity (M), normality (N), formality (F) etc. as well as mass (temperature
independent) ie molality (m), mole fraction (x) etc. The molar concentration, M, of a solution of
any chemical species is the number of mol of that species present per dm? of the solution.
Normality, N, is a more convenient unit of concentration as the number of equivalents of an analyte
(unknown concentration) present=the number of equivalents of the standard reagent (known
concentration) added. As a consequence, the stoichiometry of the reaction need not be derived
every time a titrimetric analysis is performed. Normality is the number of equivalents of the solute
present per dm? of the solution. The number of equivalents is the ratio of weight in gram of the
solute to the equivalent weight of that solute. The equivalent weight of the solute then needs to be
known which is defined as “the weight which contains, combines with or displaces one part by
weight of hydrogen”.

Commercially available reagents ie acids and bases are highly concentrated. To use them in
laboratory for routine experiments, one needs to dilute the solutions with definite quantity of water.
The total number of equivalents or mol in both, concentrated and dilute solution, must be the same
is the basis of this dilution.

The mass based concentration units are molality, m, ie the number of mol of solute dissolved
in a kg of solvent and mole fraction, , ie the fraction of the total number of mol of that component
present in the given solution.

(Atomic weights : H=1, He=4, Ne=20, N=14, O=16, 5=32, C1=35.5, Ar=40, Ag=108)
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31. 6 < Ny, 2 atm T snftn 546 K arrmE dm?® 399 TGS 3T
D
@) ) 11.2 (@) 224 (4) 313.6
7 g of gaseous PTogen N, occupies _ dmdat546 K and 2 atm.
(1) 56 2) 112 (3) 224 (4) 313.6
32. WWWW, e S feav Ereietn Seodr ) Hefd
/TS LGS
(1) TRIRG  (2) wwwewm=m () wwdew@ (@) w0 W
On. any day of the year, to use in laboratories at sea level the most correct concentration
unit/s is/are
(1) Only molarity  (2) Only normality (3) Only molality A%) All of the above
33, SR149YA H,S0, ¥ V wliferiien gremm orew, de war g I 0.025 N ST 37, W
V= .
(1) ¢4 (2) 2000 (3) 4000 @) 2
4.9 g of H,SO, is present in V em? 0.025 N solution of sulphuric acid, then V =
(1) 4 (2) 2000 (3) 4000 4) 2
34. 10 UH STEY BESISHAL H,, W 76 07 TOHAR ererger T STHAM.
7 10 2) 5 @) 1 4) 0.1
10 g of gaseous hydrogen H,, at NTP/STP contain mol of hydrogen.
1) 10 2) 5 3) 1 4) 0.1
35, el STAITH! Toveioud, 25 BEfeHE 0.1 N Frafshstra Tferfiet 0.25 N Trefve™
TSRS Uil SAfulsha hid.
(1) 100 2) 10 (3) 250 (4) 25
In a titrimetric analysis, 25 cm?® of 0.1 N HNO, would react completely with ____ cm3
of 0.25 N KOH.
(1) 100 (2) 10 (3) 250 (4) 25
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TN I AT TR S et s 36 3 4o S I AL

T A T I A S RO A, T TR G AR+ AR ST A A
ST FRerd eFATser Tl aredren Aierar iR 2R, O 8 e d gE A WAt 73 3
ST 74 =N AR Frre g snfn T e el T’ TR e s T e
T FA I T Aol T e T e ek o) v Ade, e f W
TSt o o i A or T weCTR S SR W SCAT s
fasheli e s sifeqemm et o) T T WY SR ST | T faeha R’
HEHCIFET ST FEAIeeS 1 e Goeit s oo wefta e whfers fage 47, e aieR ‘ Forae
o "oTEE W Wi siavie e e S v U S A, FRO 91 S qe
R A, TR TS S 1991 Tl SN 7 37fieh SO FAISETE A1 HHE HE e oy
ST TR A5, T, T WO e 1o Ty wee e e okt st o i
FHSTUAE TR A ¥ R SR, AGwd] B T S T G, TS 9 i aRfe
TR J VA S ST e @l Geai aee) v o3 @ WHe 9ae) W, qevd
HCT fagia §6e 7 wates e aien we famer it wr S, @ aeR A fast e
Pl doee ¥ 7 walw < T Ses S W g st sEee
T Al U AF G e Frafo e o,

Read the following passage and answer the questions from 36 to 40.

Conceptually, the idea of basic structure is not sacrosanct, but is not amenable to change if
circumstances so require. An example will suffice here. The federalism that the founding fathers
prefered was articulated as a scheme of distribution of power between two layers of government -
one at the Union Level and other at the Provincial Levels. The Seventy-Third and Seventy-Fourth
Amendment Acts, in fact, altered the basic structure of the constitution by introducing ‘a third
tier’ besides the Union and States and was therefore ‘Violative’ of the basic structure. The
introduction of a third tier is a striking distortion in the prevalent two - ter structure of governance
because this change is in the direction of greater federalism than what exists. However, these
amendments were appreciated for having translated the notion of ‘democratic decentralization’
into practice and are thus reflective of the organic nature of the Constitution. Similarly, the
introduction of the terms, like ‘Socialism’ and ‘Secularism’ (though the former considerably cost its
salience with the adoption of the 1991 New Economic Policy) did not disrupt the basic structure
simply because these changes evidently commanded ‘general assent’. What is thus critical is the
fact that the values of the Constitutional structure that are considered ‘basic’ or ‘fundamental’ are
not entirely sacrosanct, but are amenable to change if it is absolutely necessary to keep pace with
the Social, Political and Economic milieu. Although the basic structure doctrine creates a contentious
space, it none the less has struck ‘a balance, if an uneasy one,... between the responsibilities of
Parliament and the Supreme Court for protection of integrity of the seamless web [of Constitutional

Democracy in India].’
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36. 73 T I 74 g vy
@) mﬁmgﬁ‘mmmmmﬁaﬁﬁﬁ?
(b) TS
() Waﬁﬂmmmm
(d) mem
SECERUERICE

L @ L @A () @®IQ (@) T
at was introduced by the 73" and the 74th Constitutional Amendment Acts ?

(a) third tier of government

(b) democratic decentralisation

() reduced the age of voting from 21 to 18

(d) rules regarding union territories

Correct Answer Options :

(1)  Only (a) (2) (a) and (b) (3) f(a), () and (c) (4) Allof the above
37. 1991 WTEl MG FHRA WA T8 iy Sromes qeterien) e ear Hew 9 3t 2

(a) THISER (b) efTClam (c) e d) HRER

I T iy ;

(1) (a) ®=A (2) (@9 (b) ®) @3 (@3 (@)

Which value cost its salience with the adoption of the 1991 New Economic Policy ?

(@) Socialism (b) Secularism (c) Democracy (d) Federalism

Correct Answer Options :

(1) Only (a) (2) (a) and (b) (3) (a) and (c) (4) (a) and (d)

38. TEIaISh! Focdl faUMM HIuRo Herdl’ qvifac =i ?
(a) HMHHA S qiica.
(b) TERN Hwea = 333 fohan fosmmamen wafa #ow.
(c) WAeR 9 W= Sadia wfafTsi=a wd Tamwn drser 7.
(d) T S I g8 Hetl SR Hehed.
e I Uiy
(1) (a) &l (b) A @ I (c) (3) (a) W (d) (@) (a), (b) 3T (c)
Which of the following statements imply ‘general consent’ ?
(a) support among the people.
(b) general rise or growth of a concept with agreement from all.
(c) acceptance among the electorate and their representatives in Parliament about a policy.

(d) doctrine about the general collective intellect of common people.
Correct Answer Options :

(1) (a) and (b) (2) () and (9) (3) (a) and (d) (4) (a), (b) and (c)
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39. 1991 Wil WwRe T anfde b ;

(1) WHESERER stHfE 2R
\(e)/ WHSTERTA denl tfsera wefia Te

(3) WENERTEAH TR B

(4) THESERTE T TE SR e

The New Economic Policy adopted in 1991 was
(1) based on Socialism

(2) not at all related to the principles of Socialism

(3) indifferent to the concept of Socialism
(4) praised the principles of Socialism

40. RASA YA WOE WaHl FE AT HSq SURed Sea HHeT R0 S F A 2
(a) FHGT AN STHEdT Y& 9T 38 WA
(b) A FIREUSL Tl TEUATHIS Yigot ATvHH T8 T
(c) wmifSE, s 9 Usiehta gRftudt=n geul dt 95a eTavas 3R =[.
(d) SIfEEm e AYHN= od gie= WEania sae HUaHE.

3T ST 99y
(1) &2 (a) 2)  (a), (b) 3T (c)
3)  (b), (c) 3T (d) (4) =l wd

On what grounds are changes in aspects of the basic structure of the Constitution Justified ?
(a) Because it is the wish of the majority party in Parliament.

(b)  Because it is absolutely necessary in order to keep pace with changing times.

(c) If the change is necessary in the context of Social, Economic and Political Milieux.
(d) If the change is in the form of value addition to existing rights.

Correct Answer Options :

(1) Only () (2) (a), (b) and (0)

(3) (b)., (c) and (d) (4) All of the above
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QAT AW AT T UG W9 woias 41 A 45 < IaL . |

S 3T T wER e wa died frfvrardt yaerEs s wver Afaw e, TErd s
w1, ot == o=, wash o oradion ondt sraara | ot -3, feredt are-fasy, fereft <freran,
ferclt wedtaon | wig st died ffeaars oM, 1 HIAGT AT WA FEA SAEAT . 6
el TR, ¥ wfed. v ey w7 @ e i P e fien fra T wie wd dm
T R, X T o Y wiERS WS onfo Wy SMIUeR Se 3HRa Adaard fend 39 ufed
. TR TN EHR F0 § @ e S aEt e Fve FHE T T, @6l 9
T T G 9d AL W 38 A W U ShaHr | AL S 378 o Ia 0 @ S $fad
¥ TR, F ST ST R, e aifsie ardl Wee sAmEar s, A qoiqe st
3T T T2 3T, T AT STHA, T = Yol e W), s faene ge1 g, @ et 9 e Wi, I
I, ¥9 W i, v W i s ¥t aftfede Seem S e Afaen Siter ST ST
squ a7 e, W S IRferd aeed o dgdd ¥ A Shod ieom TR, S ager T St
TRV ST S e E W e fewa d e T fEHu. STt o T AR Al o,
T TR AT e ST A ] 37 TS o THL A1 hl o W e, T A $ RO A A
FTH T T Wi Febe Bl Sk Qe e ARG, 3 T T IR STy oed.
wfiferdt geoTe o9 @7 e Geer o9 ufiftd g g ol W ? el WA Yed el HRu
e P e aeed ST, Fae URMEE Jeud gva G Afaew Stad e e i
foearga anaett P SO Al The ®EL S ST @ TH99 @R F0, S e s e
ez O AR T HICH Wit I, €l Toh Ul goidl Mg; Wy @ Al sterre aRqeia =, @
H{oel fasm Fee. € yidl G eferd TR, S AR § U @ [ Tem e wigs, St
ufifeerdt 2e, fae e Sg=n Tt STIEd FEd el Wiesl. 8 geund 3. TETR e R TsH
T e S A ORI ST TR ¥ A W A, S S o) S9! 6 @0 R, w0
T T Y YU 9, T T o SR AT WU HU0 § A T HM, I e
aferas Tt FO0l, e 359 Udeishe o A0 9T G oo, wfifeerdiel g de e 9 died e ol
. ig ageral 9 fafaydd Tecie agEd S oTe gatal ¥R 9w fog weum ARt assied
feepom 7). arersr 1oAY Hied TeweR arevaTel S €. ¥ ShHicgs ScATel arevd We qred gaeael
qE 28 07 279 € WA I o1, ST Aie YeeRm R A% fasid . o 9w 1 g
TAATE AR Bl AUONGA SfaAret el 9t 4.
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41, ST 9 i
(3) WU SHAU e, (4)  ameETieHe wid.

42, @S A w1 qer ! i ?
(1) it it s foreamit o Saearat freomd wid.
A2 SR S TS Sl STt it Yot e Fe g,
(3)  STaw RFCIeROl IS TINTErTIT IO 1ol Shere MR Se ST,
(4) Tafaudy Tecremn Sged S FHicg e oA TRvATE SN B,

43, IHW SRS AR AT Toies TN hivfe ?
(1) -5y, a5, f9@R, ==, deduon amer fasm frefo.
(2) oue i, fea faswfan wia s,
() % o 3 T O & ST e e T A
(4) SIIdq SeaN STerel TRICH Seed et divid 91e ggr ST,

44. 391 Al SfaHTEn ST’ SHiorT 2
(1) e Al e fehfaml.
(2) I faFEATET WieR FEd 9T TR SHe |,
(3) YA gffeerdre g =
‘é) 3TqeT g ufifeerdt atfuemfyss s1ehel Y0,

45. 'AfqE I’ TS F ?
(1) Toeme gt e T3 e S,
() i e o @ TR HE S,
- (3 fA-fE g, st MY @G ETET SR =,
Y S 3T e TR e g died i v e T
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s 35 P14
Read the following passage carefully and answer the questions no. 46 to 50.

So Tiziano continued to draw. Byt one

i thi i satly--all the pictures he made
were black, drawn with his piece of black g hing troubled him greatly--all the p

, warcoal. Yet all round him glowed a perfect glory of
colour—the beautiful blue of the sky; the delicate, changing pink of the great jagged peaks above
himy the refi, bl.ue and yellow wild flowers; the golden brilliance of sunshine; and the rich, soft,
mellowed tints in the old houses of the town, Colour! Tiziano loved it more than anything else in
the world. Yet_ how was he to reproduce it and get it into his pictures ? He had no money to buy

ints, and paints were expensive in those days. His father, who was a mountaineer, would never

listen to anything so foolish as buying paints for a boy when the family needed food, clothing and
fuel to keep them warm.

Let Tiziano make shoes! There was a trade for a man! All the same, Tiziano continued to
dream of painting and to wonder if there was not some way he could make a picture in colours.

The day before the festival of flowers, Tiziano chanced to pass the spot where the garlands
had been woven the evening before. Suddenly, he noticed stains on the stones of the walk before
the inn. They were stains from flowers that had been dropped and crushed, and those stains were
coloured! They were every colour that a painter needed! In a moment the feast and the fun went
out of Tiziano’s mind. Catarina saw her brother heading away from the merriment and hastening
out of the village. She ran to bring him back and found him in a meadow like a variegated quilt
from the brilliance of the wild flowers. “Tiziano!” she called, “Why are you running away from
the feast ?” The boy did not answer for a moment. Too often he had been teased by his family and
the villagers for the crazy dreams in his head. At last he answered bluntly, “I have found that the
stains of flowers make colours, and I am going to paint a picture.”

46. In the third paragraph the word “Variegated” means :
(1) marked with patches of different colours
(2) having different designs
(3) flowery
t4) of different varieties

47. At the end of the passage it is clear that Tiziano had discovered :
JJJ/ that he could fulfil his dream of painting with colours obtained from crushed petals.
(2) that painting was a better profession than making shoes.
(3) a way to make his sister happy.
(4) away to add the fun of the festival of flowers.

48. Tiziano's father wanted his son to be a .
(1) Painter (%)__ Cobbler (3) Florist (4) Mountaineer
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49. Tiziano's ‘crazy dreams’ that are mentioned in the second paragraph refer to his desire to :

(1) Make the best shoes in the land.
(2)  Find a method for recycling the flowers from the feast.
(3)  Bring prosperity to his family and his village.

_,(A’)/ Paint pictures in colour.

50. Which of the following word best describes Tiziano’s father ?

(1) miserly A2) artistic (3) insensitive (4) generous

51. B &< C U T 5 3fueh 3Med. A Siaes B Uan ¢ 14 o1fyes oTRa. a1 fadiseiel 94 T9H Bt 37

Zarur-gar frael.

(1) AT BT 6Ssa 3N B & C &A% 3 T3

(2) AT B I3A AM0C N A FEA R 6 fadia,
(3) AT C NI IIA M B A FgA 3 frexdial.

(4) ATCTZ23EA o7 B & C &A1 5 3.

B has ¥ 5 more than C. A has ¥ 14 more than B. Select the transaction that makes equal

money to all the three.

(1) AgivesZ6toBandB givesT 3 to C.

(2) A gives ¥ 3 to B and C receives ¥ 6 from A.
A3) A gives T 8 to C and B receives T 3 from A.

(4) AgivesT2toCand B givesI5to C.

.

A B C
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52 Wmmwmmmmwﬂmm@ﬁmm
TR STV G SR, g Frdedt sreavi 3 oviA, g Sl WA FRERAT
mmmﬁmﬁwwmmmmwma@mgﬁm
mwﬁa%mmwﬁﬁwmaﬁmm

R I TR e ey e, ot wRedardier wfedten anoR Welid A e
. T A ?

(1) SR I WON o roaron A TR e o Tui O A SEn SR
ST e R seaed w0 weim .

(2) SR ST S I & YT W e Hg Yehel AE AR HEAeA ot
e e e,

(3) SR EHFA WVAHGA S 2Tehrss gerate i oo gertd T el A a
;IS Y5 e,

(4) ®IHE VoM ACTETE FerStiq A9 20 Tt amRq anfy I wRfafae @i gen affeian
@ B T 399 yeRR T W TR

The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain
variety of mussels that proved to be causing nuisance to the working systems. But it is found
that the bags of these calms when suspended in the effluent streams of chemical plants, not
only improves quality of water significantly but also remove some hazardous wastes from
effluents just by feeding voraciously on the algae that they filter from water that passes by it.

Which one of the inferences given below, if true, is most strongly supported on the basis of
information given in the above paragraph ?

(1)  If these mussels spread to areas of the river and displace native calms that support
cultured pearl industry for decades, that industry will collapse.

(2)  If the mussels failed to consume the quantity of algae available to them, then the intake
pipes of the nuclear plants and water plants will get clogged by it.

(3) If the wastes from the effluents are not transformed into non-hazardous chemicals by
these mussels themselves will become hazardous pollutants.

(4) These mussels are brought in this area through freighters and are thriving here since
their population is not controlled naturally in the ecosystem.

——
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53. S UF WM X 18,700 1 farwel, Y w0 MR 15% THEH . < S feedt febeeiten fersmraen
WiES Tell, TS 15% W FIen 3Tq 2
(1) ¥ 21,000 (2) ¥ 22,000 ,(ﬂ T 25,300 (4) ¥ 25,800

When a plot is sold for T 18,700, the owner loses 15%. At what price must that plot be sold
in order to gain 15% ?

(1) ¥ 21,000 (2) T 22,000 (3) ¥ 25,300 (4) ¥ 25,800

54. o e gfmareria faar whman snama snft fremet wata St famm sfiwan s waig
e '

R FEIIGA S feba Wbt Seafofd B ordet v foreh ol wed, Ui SR aRE el feeR e
= o somn faan wemwr Scafsia soten ARl

(1) R GHISTE WIS 91 THE Yoa Svar) s s, T A e i srfterd
IHA. ST TR TRAYTEA ST ST T TR A1 Sl et Tl gl

(2) TER T g9 FremEa o R ¥ sedsamr Jeas A Herst R He ¥
T, IR AR WA R AR W0 TR SESuR T R § g fresEd
TS wifgst.

?3) ot TIfor T R ¥ e e S e ROl FerA] TAre W S
AT a3

(4) 21Tttt Fon fremdterst e U FRd T @t Feeien 9 . feAT 19 et
STA A YeAIqd I FA M W I 36 hd T

Study the reasoning used in the argument given below and select the option that most closely

follows the same reasoning.

If heat or light is emitted by a body, then its energy decreases. It follows that, if a body’s
energy remains constant, it has emitted neither heat nor light.

(1) When either freedom of speech or freedom of assembly is present in society, democratic
government inevitably results. If you live under a dictatorship, you must therefore lack
both of these key liberties.

(2) Either the fans are very loyal or they don’t mind the team losing week after week. No
fans like to watch their team being beaten, so they must be very loyal.

(3) With water and sunlight this plant will thrive, since both water and sunlight are
necessary for a plant’s survival.

(4) Anybody over 21 who holds a university degree or equivalent is eligible for selection.
Since Amina is 19 and still an undergraduate, she cannot be eligible.

9992 45 LD
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> Wg,mﬁ E,mm‘wzm A g ST o ot YRV 1v2 AT W& AT,
- i mmwﬁﬁ?ﬂﬁwméﬁﬁa@.
(1) 18 hl‘. (2)

12 hr. ﬂ 9 hr. 4) 10 hr.

A pipe can fill the tank in 414 by,

to fill it. If the tank is fy]] select s. But due to leakage at the bottom, it takes 1%z hours more

the time that it will require to get emptied due to leak.

(1) 18 hr. (2) 12hr, 3) 9hr. (4) 10 hr.

56. A, B,C, D, E 3T F & 4ol TeRiss d w1 Srgaie @ Savarae) aqaeR sgerl
Wﬁﬁaﬁﬁmmmﬁma@?@. AT T& F =01 AR S0 C =1 SEishs a9 3R
E® 7@ D féhal B = I 1. B2 4@ A =1 9o SR B % Y@ 01 SEhEe qare

FARK WA T FOOR A T Ueean Hien Jaet Frm wiw v gt 7 e 7w
feren.

(1) %D (2) WHF (3) WWRDfHNF (4) wWE

Children A, B, C, D, E and F are sitting in a circle facing each other not necessarily in order
given here and playing game Chinese-whisper. A is sitting opposite to F and to the left of C.
E is not adjacent to either D or B. B is not adjacent to A. If B is the first child to say the
message and whispers in ear of child on its left then select the child who will not get the
chance to whisper message at end of the first round.

pr o
) Only D (2) OnlyF (3) EitherDorF (4) OnlyE *
A Only D o
A
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57. T TSR U v . v Wa Gw sl shreraren ot mfor, spierat famr
vt @ s e wEt fawa gt W TR e v fawan e ?

1) W& @) 7ftm (3) i (4) e

For an examination, there were FIVE subjects. Examination starts on Monday. Mathematics
paper was previous to History. Science paper was after Geography and Marathi paper was
in between Geography and History. Examination starts from which subject ?

(1) Marathi ,)(2)/ Mathematics  (3) Geography  (4) History

58. TR S WET THIE Stuieh A ar vt et wataiq Stad weese!

fiFen 9 AFEE TE0R TS AT Ge STedId STh AT oAl fas e

geardren wsre _ Seie sfaw e
(1) SIRTETE S AgHd ) fa= anftr enfsramen
(3) <em STy wferaTm N7l et el ke

Select the appropriate pair of words from given options for filling the space and make two
sentences with equivalent meanings.

Many senior faculty members who were accustomed to being addressed in a more collegial
and egalitarian manner were alienated by the tone of the new department chair’s

introductory remarks.
(1) Sanguine and Propitious (2) Saturnine and Ignominious

(3) Peremptory and Ignominious (4) Imperious and Peremptory

wHoAT FHWMAE! 9T/ SPACE FOR ROUGH WORK
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59, I VO @, S, ¢ 3 4 71 o hergaiy e e

A & BTN ATl B Ve tigy

AS BRI A ¥1B & e Ry e
A @ BT AT B VeN et e e 7y
A # BTSN A BB Ye e et

fae@: H¢D,T$D,F$H
T () FeD (M) THF  (m) D$F

IV ST/ ST T 7R 2

(1) THE §F TR

(2) T AIAA () F1

(3) hd HIAT (III) §

(4) ST O F () T

In following question, the symbols @, $, ¢ and # arel used as follows.
A ¢ B means A is not greater than B

A'$ B means A is neither smaller than or equal to B

A @ B means A is neither greater than or equal to B

A # B means A is not smaller than B

Statement : HéD,T$SD,F$H
Conclusions: (I) FéD (Il T#F (IIfy DSF

Py HLOLT

Which conclusion/conclusions are true ?
_(})/ None of true

(2) Only conclusion (I) true

(3) Only conclusion (III) true

(4) Conclusions (I) and (II) true

e HTAETS W/SPACE FOR ROUGH WORK 3 OB » A< |2 P.T.O
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60. RES{ MITE, STIR 31T TRIM andeht i ¥resi=an afe Weharal STqshwfed amal 1456, 3154 9 4231
STt SR, SEMI 1 WSt Wkl Frer,

(1) 5625 2 4265 (3) 3265 (4) 3526

The number code for three words from among REST, MITE, STIR and TRIM are listed here in
a random order as 1456, 3154 and 4231. Select the code for word SEML.

(1) 5625 (2) 4265 (3) 3265 (4) 3526

61. SIS U AV W firet straTEEAT TEEn M e A 0 IS S § StE @i Her
WIS AR, S F HA 1 G S, o) %01 € @i gan warEl e 2. i 7 A9
W B R ferede aheeh frae 1 it enfor e 39 @ . A S el @ i e oen
a0 T et W e d fen s g S gE FAeR s o w6 fee.
FIAt 9 9A I S e FuiweR fae Fen. wReE el fae e g @ AEE 9. A
Aot 1o Fracten 99, 230 Fragien S aftn 3= Fraien T Aiger o1 Fuiia HoammEt
1 HENd FIE. SR UER faE Hiomeiel wfeedn sware fae e w ad s e v frofa @it

Hadl. T &1 grdie! e e e
(1) ™ 8 A2y A e (3) W WO (4) ¥ ffar e

Five friends wanted to go on holiday together to one nearby village, but they found it difficult
to decide where to go. Jai and Mano both wanted to go to Pane, with Fene as their second
choice. Kali wanted to go to Make, while Lily’s first choice was Gute and Naz’s was Tembe.
Naz and Kali both put Fene as their second choice, while Lily gave it as her third choice,
preferring Tembe as her second choice. Kali and Mano put Tembe as their third choice.
Jai’s third choice was Gute and Naz’'s was Make. They agreed to allocate three points for a
15t choice, two points for a 2" choice and one point for a 3™ choice. The friends decided that
they would not go anywhere which was not someone’s first choice. Select the place they did

go for holiday.
(1) Only Tembe (2) Pane or Tembe (3) Only Fene (4) Make or Gute
_ T X 5 g
Ju 9 P R Ce 7?
el HITETS! ST/ SPACE FOR ROUGH WORK Mamoy, P £ T
kdo M £ 7
M2 &
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-'_‘ 62 mh\mmmzm.:\mmfmzm_ o S rEﬁrFﬁmWWﬁg
o T W oy o, R mgReER 8 A, ;
2 1 10 5
M7 ® 3 O 5 et

If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue ?

11 10
21

SIS

63. T SR I Wl TR, eler T e e 7 e Wl fwht oM. AR T I
e fomedl oTe. ST fieeE W A Yo e T g o fehel faus Sed,

HUETeaTdte IR dlel Yediieh! Haia1 Thaa fouh e, 1 HoEeTaTde TeiE e sTgeie! fRAH
e fas
1 19 @) 17 (3) 15 4) 10

In an aviary there are a certain number of birds. Nine are crested birds @d te.n are quﬁed
birds. Some of these have crests as well as spots. Of the seven yellow birds in the aviary,
each one only has either crest or spots. Of the four red birds m the avifary all have spots only.
Select the minimum possible number of birds that are there in the aviary.

(1) 19 (2) 17 (3) 15 (4) 10

Js Jdats = 60lefis
e RS ST/ SPACE FOR ROUGH WORK Red= ¢ - QiR
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o Afgaeredn TRt 2018
64. THI WRIW A, B, C, D, E ¥ F a1 Uoaia foriada STemara ST}

TR T SR st § e e ST e TRIE TR /@ 21000,
B,

WWWWWWWMWWWWW THRRR
9 3T T E A geraiieh s B Twian i sreed Zehane s T

2 - 0,
1) 25% 2) 21% () 163% @) 16%

Study the pie chart of percentages showing crime against women in states A, B, C, D, E and
F of certain country in the year 2018 and accompanying information. Total number of cases
registered crimes were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry
death cases registered is 9 then select the percentage by which dowry death cases in state E
is less than that in state B ?

1) 25% @ 21% 3) 16-2—% W 16
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| T Wil FSEF a1y 5
; () XEY T W oM T T IR e,

@) ZBX T em f/‘*
() MEN I W 3 o

@ N@YH g om

M = S U SRt Fyo7 ?

e t @ X @) Z 4) N

Read th? information carefully and using it select the answer to question.
(a) Xisabrother of Y

Z is a sister of X
(c) Mis abrother of N
(d) Nisa daughter of Y

Who is a uncle of M ?
o X 2 Y G Z @ N
66, IEH FR Y TN TS e faie we fa
Q_
e
“ 4
> Y
a4, )
o mO| o ] o O @ KN

Select the fold that is obtained by folding transparent sheet Y.

Q_
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67. P,QR,S, T 3t U a1 =it e sdercat o, amcitet U IR 107, U SFeRit TR Has,
TF Il wErH TR A, U S deare anfn < forn Sawd o, 1 TR o faenfed
S SMRa. HorqTe ST S ¥ foaaTe Fen o, S S o, TR Ta T e 29 e
e faan oM Jgwd TR, R @ = e ol e ) U an ST e en o, S
HATH . PA S W foraie e ST o T & v St A, Feste waaiq e faum
IRCES

(1) TR feait o gen fHfem w00 vy T,
(2) it et duue MR @ e o TR
(3) STt il Sere T e W e TR ey 9ee k.

A4Y A e T i T e e,

P,Q, R, S, T and U are green activists. One is a teacher, one is a health worker, one runs a
tea stall, one is a librarian and two ladies are farmers. There are two married couples in this
group. The librarian is married to S who is a farmer. None of the women in the groups runs
a tea stall or a nurse. R runs the tea stall and is married to U who is a teacher. P is married
toSand T is not a farmer. Select the statement that is false from given options.

(1)  Itis not possible to ascertain total number of women members of the group.
(2)  The person who is librarian is definitely not a women.
(3)  The person who runs a tea stall is definitely male member of the group.

(4) There are definitely three female members in the group.

el SHIMTETST ST/ SPACE FOR ROUGH WORK T N o
P Libo 8 (faern)
(IR = U (Leek)
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8. T S oI Ffamaren 2r Tatd I avH S faum fae.

A = 9 ARl S e S
ﬁﬂfmmwm\a@@mﬁffﬁ“ﬂqﬁmwwﬁmﬁﬁﬁwwmm
FTe TS F e Wi g 9% vam a0 15 3R G Geia Yar F. o
N, ST A T e e el i T ST T AT HR
AAE FAM TN T W qreaden Frfa v 3. fosra: Sl @ T g datud
”""‘“ﬁ‘“‘a'mﬁﬁmmmmmmﬁﬂmmﬁmm
Wi .

(1) TvETET T W 9T 15 TR e iR YA F6 .
(2) HAd ACUR ARSI A0 I F S T 1R G diS <d ST

LY '_”_q'@‘aﬂ“a‘WquﬁﬁmﬁmmmﬁEWWa 3T gERIEN

(4) YEEE YA A FE.

Read carefully following passage and select the statement that best describes focus of
argument.

Using technologically advanced manned and unmanned undersea vehicles it is possible for
oceanographers to observe sea floors. Direct observations of the ocean floor are made by
deep-diving submarines and some of these submarines can dive to depths of more than several
miles and cruise at depths of 15 thousand feet. Radio equipped buoys can be operated by
remote control in order to transmit information back to land based laboratory including
data about water temperature, current and weather. Some of mankind’s serious problems
especially those concerning energy and food may be solved with the observations made by
possible with these underwater vehicles.

(1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

(2) We are facing serious scarcity of energy and food with respect to ever growing
population.

(3) Advanced underwater vehicles collect information about sea floor which can be used
for solving problems related to energy and food shortage.

(4) Functions of advanced undersea vehicles.

ST FHIATATS W/ SPACE FOR ROUGH WORK
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69.

ﬁﬂ_:.f‘isoiqaa?{, Wmmm
s, T T for @ e el s
4) T=A

T S g iy o, @ s e
180° T T anfor R wremsare fawg ¥ 270° T

Enid
(1) wfem (2) A G) clockwise, again 180° clockwise ang

. . 5° ;
A man is facing towards West and turns through 4 tion is he facing now ?

then turns through 270° anticlockwise. In which direc 1 \y) S
(1)  West (2) North-West  (3) North

70.

TSt Wttt fardt wen 273 3 s S e 2
546, 1156, 3003, 3564, 5733, 3822, 9605, 8736 (4) 8
1 s 2) 3 (3 ¢ )
How many of the following numbers are not divisible by 273 1
546, 1156, 3003, 3564, 5733, 3822, 9605, 8736

1 5 2 3 3) 4 @) 8

71.

fecteft foem 3 gaeh sy s, fedtean fauriaR sruifta 3P SFEARTSR e
(a) R Beawrn v Bt Qere e fawe sraoiel -9 HIe 3Ted.
(b) HEAER S T Qg B! Qe .
() FTE e arg e O e Hrem
(d) 16 AuTETA TRt Wearg el St Hiewdr.
T 3
Wy saren S-vea e o T ave v e g S ST
(2) Tt 2t wreres T S i Wearg SR
(3) 2l weT W Tt W 16 AT TR
(4) FOIH! TR EL
Study the statements given below and conclusions that follow these. Select the appropriate
conclusion that is based on given statements.
(a)  All hockey players playing on the ground wear T-shirts with blue emblem.
(b)  All players who are on the ground don’t play hockey.
(c)  Some hockey players also wear blue caps.

(d) Hockey players who are below 16 years always wear a cap.
Answer Options :

(1)  All persons having blue emblem on their T-shirts are hockey players.
(2)  All persons wearing blue caps are hockey players.

(3)  All hockey players wearing a cap are below 16 years.
(4) None of the above.

ol HIHTETS ST/ SPACE FOR ROUGH WORK P
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79, 400 AR, mﬁamgmmmmml 1 10 feerema gof e, W Faddt e
Wsmmmﬁfﬁﬂmﬁmmmmzomwmv
(1) 275 (2) 250 A3) 675 (4) 400

-

; th
400 persons, working 9 hours a day complete % of the work in 10 days. How many of

additional persons, workin

20 days ? g 8 hours a day, required to complete the remaining work in

(1 275 (2) 250 @) 675 (4) 400

P

73. A,B,CdD I I TG 9930 99 a2, D X 99 fifvsq 1.

forar faum -
L A9CI= A 91w 60 o am. pA4B4ctD = 120
II. D =Fil A 350 10 a9 oem o, €0
AYD =60
fecied FE ST foeavaren gfied 4 vat e p-a 10
S
(1) ae faum 1 9YA =1 Faw faur I ayA qrace fag qut o ;23,%9,5

‘,ez{ faum 19 11 7YA Yacic fogr wwau gut o,
() ax faum 1 7yA Wacen faer gt eme anfor faum 11 <t e 7=,

(4) foum 14 1 7y et foer Thfaas gl =,

The average age of persons A, B, C and D is 30 years. Determine the age of D.

Data statements :

I.  The sum of ages of A and C is 60 years.

II. D is 10 years younger than A.

Select the correct option with respect to getting solution to stated problem.

(1) Data provided in the statement I alone or statement II alone is sufficient.

@

(3) Data provided in the statement I alone is sufficient and statement II is not necessary.
)

4

Data provided in the statement I and II together is sufficient.

Data provided in the statement I and II is not sufficient.

—

FoTETdt - A 1€ 53,
T CE FOR ROUGH WORK rgcmﬁé , .
T/SE —@X X0 P.T.O.
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74. U WA A, B, C, DN ATHR 5:2: 4 :3 1 YOG faumEae o, X C A D WA T 10
fHeret, @ B = 9 foRelt o ? € 2500
(1) % 500 (2) T 1500 B) T 2000 _ (4)| R eseciivdly:
Some amount is to be distributed among A, B, C, D in the proportion of 5:2:4 P
If C gets ¥ 1000 more than D, what is the share of B ?
(1) %500 (2) % 1500 (3) ¥ 2000 (4) ¥ 2500

75. IR Freosigde arn. weigE R HE FuE W S Hvar i w
SHIHIATAT TROTHIET STTd FHTOMT W= Uehl Qoelell, S SIarll Tl R Haidal S
FI1 fIam @ 2.5 99 52d famrin e o o1 sTews ST, I SR = o
T Saufa e Hafud qued et e emR. A v emuR Sde Ges wa

M

_/m’ A BT &4 Tl FRofiyg 1o THE wewh o € wnivie g el o aig 91 9
FARIAIIC TEe 1 TAKTD TOTSAT SEeleR. IR0 i) 19 A Wiedt Met Het om
A B A FfRER W 2 A

(2) N YK Y FOTAA qO AU 7 SO S T g 92 R e &
(3) TS SHIOA ! IO TR R THe Seva FRUNYA Bl § 374 TUEFIH g8
S 38 A ¥ Teafasrr= aree Searen o swd Py o,
(4) R TRl 91 e stfie w9 Fiw fyoren st eraeen safasrE il R Teasi=mn
Read the following argument carefully and select the most appropriate option that if true,
indicates that their decision is not aimed at decreasing team member’s risk of heart disease.
A team of researchers studying effect of drinking coffee have found that persons drinking
more than four cups of coffee have a risk of heart disease 2.5 times than the average after
correcting it for age and smoking habits. 1t is important to note that the members of this
team declared that they have started limiting their own daily coffee intake to two cups as a
result of above finding,
(1) Itis well established fact that the stress is major causal factor related to heart disease
but it is not clear whether this team has collected information about variations in coffee
consumption are directly related to the variations in stress levels.

(2) Subsequent studies have shown that non-smokers consume coffee at about one-third
the rates of heavy smokers.

(3) Subsequent studies have shown that heavy coffee consumption causes an elevation in
blood-cholesterol level, an immediate indj '

(4)  Their own study found that for p
additional risk of he

I more cups of coffee daily, the
tra daily cup.

| ‘https://t.me/Adda247Marathi



https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
Dell
Line


5

LA B G B R ) S

A 51 ‘P14
pecision making and problem solving question no. 76 - 80.

76, TR TR AT SRR A1 T T o eyt Sraref e Ao OOl
AT ST SIS ot vy Sheft o, oo SHGATGq X o Feauifeq i qefe
a5 firell O T Yt srearasion verard) frae el o T qeERETSA T
ST G T G, A T i ST, G ST 3 He g e @ Wi
X =1 R TR FHIOT T 37 G <aT Sl S, il T WA e
SR X 0 I N A Yy sreaia SR wRed AR, A oA e
e T I A1 R el v T e e v o, TR .
M) .. T T T T e o A s A i Y T g e

@) ......mmﬁmmamwﬁwmwmmwwﬁa
I el e A THIA.

B) o m:ﬁmmm*mm@mmmmmw
TR w0 o %59 O WIS 3T, 3T WHIes .

You are a medical practitioner and appointed by the prestigious educational institute for
allotting fitness certificates to all persons before they are employed in the institution. A
highly qualified person X is interviewed along with many other candidates and was selected
for the teaching post by the head of one of the department as the panel of interviewers found
him to be very competent. Two members belonging to your community who are faculty
members of this department approached you and pressurize you to give negative certificate
about X’s fitness. They are interested in creating trouble for the X and the head of the
department who belong to the same community. These persons might use their connections
and cancel your assignment with the institution in the future. You will.....

1 [ tell these persons that though you belong to the same communjty, you are not
appointed to follow their suggestions.

(2) ... try your best to delay the appointment for some time and make X and the head of
the department, miserable only for some days to avoid pressure from these persons.

3) .. certify that the person is not fit for the work for which he has been selected as his
heart is extraordinarily large for saving your appointment.

(4) ... request them not to interfere with your work and allow you to execute your duties
scrupulously and righteously without any kind of biases.

R

ASAR
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77, 8 ¥t e e oo e ) v S, S aimmm ity

FAE. A A S v, SarRft | St g

R ?

(1) ﬁmwﬁmwmwmmmmwm
VAT SO FARvATS FfRTE <%,

2 Tt 7 e TEraE EeEs a iaa S s e 7 e W i Hiehingy
T faay Toivt HeeHEeT S R ST AR G Afedt e, T s
T Qe FiewAEial ST WYT Fe.

@) T vt dee freRstaEt wiT snfn dodd e e e U SavaEet s
I FHATT FIEFANRG aTo G& .

You are a farmer by profession and own a few acres of land. Many other farmers from
nearby places, those own insufficient land and landless people, work as labourers on your
farm. They do all sort of work including spraying insecticides and herbicides. Many farmers
in your district committed suicides and continued to do so including some of your workers.
You came across the newspaper article that informs that many studies all over the world
claim that insecticides play major role in motivating persons to commit suicides. It is not
limited to commit suicide by drinking insecticides. While handling and spraying, molecules
of insecticides are inhaled and get accumulated in the body over the years. This affects
human brain and neuro system and attitudes like frustration, depression and self-destruction
are developed among these persons. What will be your response to this information ?

(1) I will provide all quality safety equipment to my labourers and train them to handle
and spray insecticides with necessary care.

(2) I'will stop using these chemical insecticides as they are life threatening and use other
remedies for saving my produce from insects without bothering about the yield.

(3)  T'will consult reliable expert or get authentic information using internet to find out
availability of safe insecticides, even if they are costly.

(4) I will have to wait for further research and till then I will continue to use insecticides
that I am using now for to keep my crops safe from the insects,

oAl THIHMAIE T/ SPACE FOR ROUGH WORK
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78. TR TR Vg fereneaten wrantt Quifors weirs oo omem, EnE f Taee i

T FCTHIE SR 8 T 3 o s e eGP e S SRomiare

(1) TN W T Wi T gyt qoiv s e

(2) SR SR Fvta S anfor et Fearn Breet Svare wod Svare! fanet faed
ERUGH

©) ;am‘a”d] ‘;:;}W SAAGHAT T et Fep ST F6 WIS AT 0T AT
HUTHT ERuCH

(4)  Toroetol % Tren arawn e 1 sarasHHTe ST 4 ST famn e Ga gt
TR T,

You are director of private educational institution that caters for the learners from KG to PG.
You are concerned about unfettered information flooding social media and about the effect
of such information can have those most impressionable. You will........

(1) totally ban access to the net in all campuses of your institution.

(2) requeststudents to take a pledge to be careful while making decisions and taking actions
based on news.

(3) design time table and request teachers to spend some time in class for conducting
discussions about the damages done due to fake news.

(4) assist learners to get empowered to identify fake news by making news analysis a
mandatory part of curriculum.

HeAT HIATETS 9 /SPACE FOR ROUGH WORK b ld
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79. T forem Ui FavmIren AT SRS WG e, FediE Th e e Serdel e S
e Wi ST SSTeTd AU G I WY E-Sa HEHA Wewr garret
21 TS T ST WS WA A . g 3 de 91 ufes s dedl e W

(1) ... TS S R SRiaie Al wid et TEurT 9U ¥ i HA

(2) ... TARIFIA AGT THRE TR H AT Fewire HIER TewER & o fa=
T T S YR S Fewn Avaet W U0 Sehrgait o or i 3

@) ... U FHIEARE! FH FHOT TR Y HEd i W= Hfah Heen
e 20 fue =i & g < femi veaT am.

}g), ... STYTEHTE e, el & WeIfaener) aie Hedr feardie dieir, saeren fa=n g=faes
TR SHTHHATT T SIvaTe e O SRS S T AeATaed STE HUATHR! HIeH
gufed He.

You are the head of the “social cell” of district police department. You are approached by
the group of women and among them some are married and some are unmarried. They
claim that they are pressurized and in some cases threatened by their families to participate
in ‘Guru-Seva’ programme of certain holy sadhu during last fortnight of next month, for
earning his blessings for the prosperity of the family. The members of this group don’t believe

in this kind of devotion. You met this holy person on many occasions but never heard anything
wrong about him. You would........

(1) ....convince women, that it is their duty to participate in Guru-Seva for earning blessings
for the prosperity of their families.

2) seek a written complaint from each woman and send appropriately worded notices

to the concerned families for forcing any member of the family to participate in such
programme against his or her will is illegal.

1) S convince women that it would be better to tackle their own family problem with
the help of NGO working towards eradication of superstitions.

[ J— take the help of NGO, schools and colleges to organise campaign in the district to

make people aware of the fact that it is illegal to force persons to participate in such
programme against their will.
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You are working as a fourth grade worker in the solid waste management department of a
municipal corporation. You joined the corporation after you father’s untimely death. Though
failed in 10" class you are a voracious reader. Observing your interest in reading, chief
supervisor in the department encouraged you to continue education and change your fate.
With your personal efforts you have completed graduation in commerce and post-graduation
in social work. Now for continuing research in social science institute, you have received a
foreign fellowship abroad and have applied for a study leave. As per the rules of corporation,
employee gets two year salary protected leave for continuing education. But the head of the
corporation rejected your application and discouraged you by asking question, “Who will
do cleaning work if you get higher education ?” Which way would you choose for sorting
out this problem from the following list ?

(1)  Discontinue your education as you are well acquainted with the attitude of many of
the so called higher cast persons those create trouble for persons from lower social
strata even if they are appointed on higher posts.

(2) Talk to this person patiently for reminding him about educational leave provisions
available to you as an employee of the corporation and about his disrespect towards
Constitution.

(3) Try to know facts about rejection of application and organize an agitation with the
help of activists using different approaches and media.

(4) Concentrate on the rejection of leave application and make aware all concerned higher
authorities including national authority that looks into these types of problems.

-000-

THeAl HTHMEIS SR/ SPACE FOR ROUGH WORK

P.T.O.

http://www.adda247.com/mr | Adda247'FR13°prp | https://t.me/Adda247Marathi

.


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
Dell
Line


